
CHM 151 Quiz la 25 Pts Spring2020 Name: _ _:_}<_;;__~------------
Show All Work To Receive Credit! Conversion factors and prefixes: 

G = 109, M = 106, k = 103, c = 10-2, m = 10-3, µ = 10-6, n = 10-9 p = 10-12 , 2.54 cm= 1 in, 
12 in= 1 ft, 5280 ft= 1 mile, 3 feet= 1 yd, 60 sec= 1 min, 1 hr= 60 min, 4 quarts= 1 gal, 2 pints= 1 quart 

1. (6 Pts) Perform each of the following conversions. You must show the complete setup. 

a. Convert 88 mg to pg. 1 IO 
= 8 8 X.) 0 (71.- 5' .. ~ )< /O ff 

b. Convert 85 µL to nL. ~5").,,LI /D-r;; I '1, 

~ ( Jo-'f 

2. (6 Pts) Assume each of following numbers are measurements. Perform the indicated operations 
and then report the answer with the proper number of significant figures. 

To tJ.,. pla i:..e 

a. 12.145 cm + 15.1265 cm + 25.f cm = 5 d-.., ~ 7 in 5 ~. S'"cm 

4 s,J r-,~'iJ 
b. 10.25 cm x 12.10 cm x 10.145 cm= I d-.. 5 8 cm3 

-----------

1 s-r iO ._~e ~1v<-<- I~.§:.).. d--S,fi f=-1~1 
1~,c?\ '7 ✓•. ~ 

c, ( 25.2 + rnf) + (12xl.03) = I 9. ' '-I tfl I .J2. ( assume these all measurements) 

K fy..,e.ri ~ S•J P,as 
3. (4 Pts) A poster measures 22 cm by 44 cm. Determine its area in square inches (inches2

) (you 
may ignore significant figures). 

/ 5 O µ.l-

4. (4 Pts) How many milli-inches are in 7 kilo-feet (You may ignore significant figures)? 

3 di I I ') -; "" I .; 7 X ID 7i ~,..., .. . /VY\ - o l/O0O0 00 6'\.. ~,L( X. /D /ff'~ 
? I l,Jn I )f;)-3 0 J > 

5. (5 Pts) A sample of silver ore was found to contain 0.55 % silver by mass. How many mg of 
silver can be recovered 900.0 kg of ore? 

u>3 fY"1 

/()0~ 
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Show All Work To Receive Credit! Conversion factors and prefixes: 

G = 109, M = 106, k = 103, c = 10-2, m = 10-3, µ = 10-6, n = 10·9 , p = 10-12, 2.54 cm= 1 in, 
12 in= 1 ft, 5280 ft= I mile, 3 feet= 1 yd, 60 sec= I min, 1 hr= 60 min, 4 quarts= 1 gal, 2 pints= 1 quart 

1. ( 6 Pts) Perform each of the following conversions. You must show the complete setup. 

-'I -7 L 
-:: 317 X/ 0 cf1.. ]#J.7 .X Jo 'f a. Convert 327 pL to mL. ,l}_ L f I O - I "0- / "'1 

317 ~ _ 
3 ._,- ,p I io -

2. ( 6 Pts) Assume each of following numbers are measurements. Perform the indicated operations 
and then report the answer with the proper number of significant figures. 

'Tb +""is "f \a.<~ 

~ 
a. 13.1 cm + 12.526 cm + 0.052 cm = ;2..5', i 7r.a <5\-;;__r;,l cm 

3 S\~,f1~t, 
'if 

b. l.212cmx 6.12cmxl2.145cm= 90.Q84~ 6\. '1b,J cm3 

)1/r to th,( i v-eJ. I r; ~ .- 'J-. 
~~1 i -

c. . ( 55.2 + 103) + ( 13xl.03) = I l , g ~ It=-' ( assume these all measurements) 

t 
,~~'(\ ;)__ $ i'j F-,, s 

3. (4 Pts) A poster measures 33 cm by 45 cm. Determine its area in square inches (inches2
). 

(You may ignore significant figures) 

3 3 KA I J,.i.,,_ x 4 S ~ 1 ..i.,... ::::- J.. 3 o ).ft-.:;;___ 
- 'J._,t;4# d-.ct5L/~ 

4. ( 4 Pts) How many milli-inches are in 0.5 kilo-feet (You may ignore significant figures)? 
(X' 3 ' , 

0, S~,9f 10 J'J._,<n,, ~ --.:=. 6 D0(>ODO oA- b X /0 G /ff)./Jn 

.)(. I .pr Jo-~ > ; 

5. (5 Pts) A sample of silver ore was found to contain 0.75 % silver by mass. How many mg of 
silver can be recovered 500.0 Mg of ore? ~ 

_:s_o_lo.~::::...() -""l'/_;.'-.✓e-_e...+:-J..:...o-:-6-l-_o_~ '_:~:._A-d,;__-+--fff',--"; ~ 3 7 5 0) 0 D l.>) 0 Q q ~ 3, 7 'I- It) {ff\~ 

}X I DO ~, ) o ... 3 
J 


